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Ex/Phil/PG/1.4/12/2017

MASTER OF ARTS EXAMINATION, 2017

(1st Year, 1st Semester)

PHILOSOPHY

[Epistemology (Western)]

Full Marks : 30 Time : Two Hours

Use a separate Answer-Script for each Part.

The figures in the margin indicate full marks.

Part - A / øıˆ¬±· - fl¬

1. (a) Discuss any three criticisms against Coherentism (about
justification) that reduces its initial plausibility.

(b) Explain “the idea that the chains of justification for
particular, contingent, empirical beliefs circle or loop back
upon themselves” in Coherentism. 6+4=10

1ºïfl¬ó √õ∂±˜±Ì…¸—Sê±ôL√ ¸/øÓ¬ı±Àı˛ øıèÀX¬ Œ˚Àfl¬±Ú› øÓ¬ÚøÈ¬ ’±¬ÛøM

’±À˘±‰¬Ú± fl¬ı˛ ˚± ¤˝◊ ˜ÀÓ¬ı˛ √õ∂±Ôø˜fl¬ øıù´±¸À˚±·…Ó¬±Àfl¬ ˝ò±¸

fl¬Àı˛º

ï‡ó ¸/øÓ¬ı±À øıÀ˙¯∏, ’±¬ÛøÓ¬fl¬, ’øˆ¬:Ó¬± øÚˆ«¬ı˛ øıù´±¸¸˜”À˝ı˛

Ú…±˚…Ó¬± √õ∂˙«ÀÚı˛ ˚≈øMê˙‘∫˘ ’ÀÚ…±Ú…±|˚˛À±À¯∏ ≈©Ü ñ ¤˝◊ı˛+¬Û

’±¬ÛøM ı…±‡…± fl¬ı˛º 6+4=10
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Or, / ’Ôı±,

2. (a) What is the epistemological unit against which the notions
of ‘internal’ and ‘external’ are to be decided ?

(b) Define ‘internal’ and ‘external’ in accordance with this
criterion. 6+4=10

2ºïfl¬ó :±ÚÓ¬ÀMWı˛ Œ¸˝◊ ˜±ÚG¬øÈ¬ fl¬œ ˚±ı˛ Z±ı˛± ’ôL√ı˛/ ¤ı— ıø˝ı˛À/ı˛

Ò±ı˛Ì± øÚı˛+ø¬ÛÓ¬ ˝À˚˛ Ô±Àfl¬ ∑

ï‡ó ¤ ◊̋ ˜±ÚG¬ ’Ú≈̧ ±Àı˛ ’ôL√ı˛/ ¤ı— ıø˝ı˛À/ı˛ Ò±ı˛Ì±ı˛ ˘é¬Ì ±›º

6+4=10

Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

3. Critically examine any one argument against Foundationalism
as a theory of epistemic justification. 5

3º :±ÀÚı˛ Ú…±˚…Ó¬±√õ∂˙«ÀÚı˛ Ó¬MWı˛+À¬Û øˆ¬øMı±Àı˛ øıèÀX¬ Œ˚Àfl¬±Ú›

¤fl¬øÈ¬ ’±¬ÛøM øı‰¬±ı˛¬Û”ı«fl¬ ¬Ûı˛œé¬± fl¬ı˛º 5

Or, / ’Ôı±,

4. Discuss the main insight behind the Armstrong-Bonjour
definition of ‘Externalism’ and the definition of ‘Internalism’
given by Chisholm. 5
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4º ’±˜«à¬— ¤ı— ı“Ê≈…ı˛ √õ∂M ı±˝…ı±Àı˛ ˘é¬Ì ¤ı— ø‰¬ÊÀ˝±˜ √õ∂M

’ˆ¬…ôL√ı˛ı±Àı˛ ˘é¬ÀÌı˛ øˆ¬øMÀÓ¬ Œ˚ ˜”˘ ’±˙˚˛øÈ¬ øÚø˝Ó¬ ’±ÀÂ Ó¬±

’±À˘±‰¬Ú± fl¬ı˛º 5

Part - B / øıˆ¬±· - ‡

5. Why does Kant claim to have brought about a Copernican
revolution in philosophy ? Discuss fully. 10

5º fl¬±KÈ¬ Œfl¬Ú ±øı fl¬Àı˛Ú Œ˚ øÓ¬øÚ ˙«ÀÚ ¤fl¬øÈ¬ Œfl¬±¬ÛøÚ«fl¬œ˚˛ øıõ≠ı

‚øÈ¬À˚˛ÀÂÚ ∑ ¬Û”Ì«±/ ’±À˘±‰¬Ú± fl¬ı˛º 10

Or, / ’Ôı±,

6. How is Kant’s table of categories related with Aristotle’s
classification of judgements ? How are the representations
acquired by the sensibility synthesized ? Discuss after Kant.

4+6=10

6º fl¬±ÀKÈ¬ı˛ ŒıÃøXfl¬ √õ∂fl¬±Àı˛ı˛ Ó¬±ø˘fl¬± ¤…±øı˛à¬È¬À˘ı˛ ’ıÒ±ı˛ÀÌı˛

Œ|øÌøıÚ…±À¸ı˛ ¸À/ fl¬œˆ¬±Àı ¸•§X ∑ ˝◊øf˚˛˙øMê Z±ı˛± ·‘˝œÓ¬

√õ∂øÓ¬ÀıÚ fl¬œˆ¬±Àı ¸—Àù≠ø¯∏Ó¬ ˝˚˛ ∑ fl¬±KÈ¬Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛ ’±À˘±‰¬Ú±

fl¬ı˛º 4+6=10
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Answer within 200 words.

’ÚøÒfl¬ 200 ˙Às Î¬◊Mı˛ ±›º

7. Distinguish between synthetic and analytic judgements after
Kant. 5

7º fl¬±KÈ¬Àfl¬ ’Ú≈̧ ı˛Ì fl¬Àı˛ ¸—Àù≠ ∏̄fl¬ › øıÀù≠ ∏̄fl¬ ’ıÒ±ı˛ÀÌı˛ ˜ÀÒ… ¬Û±Ô«fl¬…

øÚı˛+¬ÛÌ fl¬ı˛º 5

Or, / ’Ôı±,

8. Give after Kant, a brief account of the transcendental
exposition of the idea of space. 5

8º fl¬±KÈ¬Àfl¬ ’Ú≈¸ı˛Ì fl¬Àı˛ ŒÀ˙ı˛ Ò±ı˛Ì±ı˛ ’øÓ¬ıÓ¬œ« ı…±‡…±ı˛ ¤fl¬øÈ¬

¸—øé¬l ıÌ«Ú± ±›º 5

—————
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